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Note:	 The question paper is divided into three sections. A, B 

and C. Write answer as per the given instructions.
{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 

IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Type Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or maximum 
upto 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎma dmbo àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{O¶o& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 Explain any two important characteristics of Managerial 
Economics.

		  à~ÝYH$s¶ AW©emó H$s {H$Ýhr§ Xmo ‘hÎdnyU© {deofVmAm| H$mo ñnï> 
H$s{OE&
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	 (ii)	 Define demand with an example.
		  CXmhaU g{hV ‘m±J H$mo n[a^m{fV H$a|&

	 (iii)	 What do you mean by demand forecasting?
		  ‘m±J nydm©Zw‘mZ go AmnH$m ³¶m Ame¶ h¡?

	 (iv)	 Explain the meaning of production function.
		  CËnmXZ-’$bZ H$m AW© ñnï> H$a|&

	 (v)	 Mention the four phases of business cycle.
		  ì¶mnmaMH«$ H$s Mma AdñWmAm| H$m CëboI H$s{OE&

	 (vi)	 Give the formula or calculating Disposable Personal 
Income (DPI).

		  IM© ¶mo½¶ ì¶{º$JV Am¶ (DPI) H$s JUZm H$aZo H$m gyÌ Xr{OE&

	 (vii)	Define price elasticity of demand.
		  ‘m±J H$s H$s‘V bmoM H$mo n[a^m{fV H$s{OE&

	 (viii)	Which one is the most important characteristics of 
Monopolistic competition?

		  EH$m{YH$mamË‘H$ à{V¶mo{JVm H$s gdm©{YH$ ‘hÎdnyU© {deofVm 
H$m¡Z-gr h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Type Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 08 marks.

(IÊS> - ~)
(bKw CÎma dmbo àíZ)

{ZX}e :	 {H$Ýhr Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 200 

eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 08 A§H$m| H$m h¡&
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2)	 Explain the determinants of demand.
	 ‘m±J Ho$ {ZYm©aH$ VÎdm| H$mo g‘PmBE&

3)	 "Perfect competition is a myth". Elucidate this statement.
	 ""nyU© à{V¶mo{JVm EH$ {‘Ï¶m AdYmaUm h¡&'' Bg H$WZ H$s {ddoMZm 

H$s{OE&

4)	 Explain the classical Theory of Employment.
	 amoOJma Ho$ à{V{ð>V {gÕmÝV H$mo ñnï> H$s{OE&

5)	 How Managerial Economics is different than the Traditional 
Economics? Explain.

	 à~ÝYH$s¶ AW©emó, naånamJV AW©emó go {H$g àH$ma {^Þ h¡? ñnï> H$a|&

6)	 Explain the relationship between Average Total Cost and 
Marginal Cost.

	 Am¡gV Hw$b bmJV Am¡a gr‘mÝV bmJV Ho$ ‘Ü¶ gå~ÝY H$mo g‘PmBE&

7)	 Why demand forecasting is important for any business 
organisation?

	 {H$gr ^r ì¶mdgm{¶H$ g§JR>Z Ho$ {bE ‘m±J nydm©Zw‘mZ ³¶m| ‘hÎdnyU© h¡?

8)	 What are the essential conditions for a successful discriminating 
monopoly? Explain with the help of examples.

	 EH$ g’$b {d^oXmË‘H$ EH$m{YH$ma Ho$ {bE H$m¡Z-H$m¡Z gr eV} Amdí¶H$ 
h¢? CXmhaUm| g{hV ñnï> H$a|&

9)	 Explain the National income  and its key characteristics.
	 amï´>r¶ Am¶ Am¡a BgH$s ‘w»¶ {deofVmAm| H$mo g‘PmBE&

	 Section - C	 2 × 16 = 32
(Long Answer Type Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.
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(IÊS> - g)
(XrK© CÎma dmbo àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{O¶o& AnZo CÎma H$mo A{YH$V‘ 500 eãXm| 
‘| n[agr{‘V H$ao& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Explain the price and output determination under monopoly in 

short-run and long-run. Give suitable diagrams in support of 

your answer.

	 EH$m{YH$ma Ho$ AÝVJ©V AënH$mb Am¡a XrK©H$mb ‘| H$s‘V Am¡a CËnmXZ 
{ZYm©aU H$mo ñnï> H$s{OE& AnZo CÎma H$s nw{ï> ‘| Cn¶w³V aoIm{MÌ X|&

11)	 Explain the law of variable proportions and reasons for its 

applicability.

	 n[adV©Zerb AZwnmVm| Ho$ {Z¶‘ VWm BgHo$ {H«$¶merb hmoZo Ho$ H$maU H$mo 
g‘PmBE&

12)	 Critically examine the Keynesian theory of employment.

	 H|$g Ho$ amoOJma {gÕmÝV H$m AmbmoMZmË‘H$ narjU H$s{OE&

13)	 Write Note on any two of the following:

	 {ZåZm§{H$V ‘| go {H$Ýht Xmo na {Q>ßnUr {b{IE:
	 (i)	 Kinked Demand curve
		  {dHw§${MV ‘m°§J dH«$

	 (ii)	 Degrees of Elasticity of Demand
		  ‘m°§J H$s bm|M H$s lo{U¶m±

	 (iii)	 Investment function

		  {d{Z¶moJ ’$bZ


